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1. Look at this series :
8,22, 8, 28, 8, ...

What number should come next?

A) 9
B) 29
©C) 82

,(D_) 34

2. Fill the blank in the middle of the
: .
-~ series :

SCD, TEF, UGH, ~__, WKL
A) ' CMN
®) UJI

© Vi3

®) 1T

CSP-24/2-C

@ 2Igaacq 699 :

8, 22, 8, 28, 85 Lt

gaeel cae QoW 2Ide @8] ?

@) 9

‘®) 29

(C) 32

L@

. Bgeata FRIAIGER el SIRAIR A
 SCD, TEF, UGH, _____, WKL

@ CMN

(B) UdJI

(C) VIJ
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Three numbers are in the ratio of

5 2GAISER I9° |

[3. P6QIT Al 3 : 4 :
3-3'4": § and their L.O:M. 18 2400; 6QeIeaa L.C.M. 2400 | 6QeIaGq
Their H.C.F. 1s - ,
H.C.F. 626G ?
(A) 40 (A) 40
(B) 80 (B) 80
(C) 120 (C) 120
(D) 200 (D) 200
4. Half of 1 percent written as a Gafie QISEa EANIAINGS! I8 gseq
decimal is o1l 6205 ? 24
(A) 0.005 (A) 0.005
(B) 0.05 (B) 0.05
(C) 0.002 (C) 0.002
(D) 0.02 (D) £0.027 -
5. In a tea pérty there are 6 males and 6@led 9@  @| Q@GQV 6 @8 ¥ Ie°
4 females. A handshake is. 4 96 (@RI QIS 69a8E | AFle AEA
exchanged. between persons' of the o ORISR e A
same gender and a hug is exchariged s ARIGa 216 ARRsM I&° FUATE
between persons of opposite gender. dora QUEe IR JREE QAAER,
How many handshakes and hugs 6660 2a 216 TRIRGR Ie° ZIREE K6
are exchanged? .
emet ?
A) 45 A) 45
(B) 39 B) 39
(C) 30 (C) 30
(D) None of these (D) QAUEAUD 62LG I
CSP-24/2-C [PT.0
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Study the given graph and
answer the following Questions
6 and 7 (Production are

respectively 200, 400, 600, 900,
800, 1000 and 1200)

1400

as cpmpared to the previous year? :
(A) 1989-90 A
.(B) 1990-91
(C) 1991-92
D) 1993-94

7. During which yeér the percent
increase in production was lowest as

compared to the previous year?

(A) 1990-91

(B) 1991-92
(C) 1993-94

(D) 1994-95

6. During which year, the percent

increase in production was highest

g erigggee FRge 949¢ex 94
QY 6 9e° 7 8] dee ! |
(@QIQ%J_@Q @eliges 200, 400, 600,

900, 800, 1000 9<° 1200) |

1400

g 1000

Producti
-5888

ge edgPaa QIR gRAIEa 689 aFa

QYA QF P86 Ay gmI ?

(A) 1989-90
(B) 1990-91

(©) 1991:92.

i D) 1993-94

. 99 edgean Ier §RAIea 6ad eda

QIR 98 9EES @9 ARl | GIl QERW

Qe

(A) 1990-91
(B) 1991-92
(C) 1993-94

(D) 1994-95

CSP-24/2-C




,E. Select the missing number from the | 8. @IRgQ TG 6Re! 2
given responses :

b

30
13 12
A 12 R A 12
(B) 22 | B) 22
(C) 18 , 34 (C) 18
D) 24 TG e D) 24
Directions : (Q. Nos. 9 and 10) tA | F6TAIeR : (99 9 9e° 10) g6NR QJ_QW
cube is painted blue on all faces : QIsca F17 66 RAIGINYS U@ 99

is cut into 125 cubes of equal size. ‘ %
; QR RNAEQ 125 UAREQA RCILIN.

9. How many cubes_are not painted on 9. 606015 q@”@lgea AR » QP

any face? S Qg9
@ 8 i @A) 8
®) 16 | | ® 16
(C) 18 : 2 B T(C)= 18
D) 27 ' LR T D) et

110. How many cubes are painted on one 10. 6@9% 665N ?i@@lQGQ EREQ LR @

face only? o5 |

@) 8 | B 8
B) 16 - (B) 16
(C) 36 : -~ (C) 36
(D) 54 b D) 54

CSP-24/2-C | 5 | [PTO




11. You are the Manager of a cinema

hall and receive a phone call. The

paller says that he has planted a

bomb in the hall, but many fake.

threats have been received before.

What will you do?

(A)

(B)

©)

Immediately inform the Poliée,

ask them for instructions on

how to handle the situation _

and act accordingly

Immediately call thé - Police, -

enter the hall and announce to

the audience about the bomb

threat and 'asl;‘{,‘thén'i to leave

the hall immediiat'el‘y::

Enter the hall and announce

" that there is an emergency and

' ask the audience to leave the

)

hall without panicking} :

Do nothing as fake threats

have been received in the past

11. g6l @ @6RAIRA @ TEPIRR 197 G
QISg 9@ emq an eu@q.m ] serlcf @QeQl
QY3 Qgaed 6d 6 am ﬂdéa 6l
aged| Gg 9oq Zeae Agu 0@ FRE |
Q671 @4 @R ?
I:(A) 908 em;iqg Qéliel | 90gEq @aa
adeinel @Ae, 6 G906a Fedd
| m'\f].@’ @@}@qusa Qi aq |
(B). 998 camag @R m ca gead
@ ?1@" Qdieg 69171 UAR G9a6Q
eémé_l a1 627IRG. 998 °R
- @@Ql@é@. |3
(C) : @m @éaei geed @a 9e° 6QIN4l
Q@ 60 99 a@@@lm@ ARG 28 |
, éé@q QORI @ 68IR aR BIFIq
Qe |
(D) ‘ qé@’ Geupine  GRgQp @8

RARIE |

CSP-24/2-C




[12. The present age of Mr. Sanyal is

13.

three times the age of his son. Six
years hence, the ratio of their ages
will be 5 : 2, What is th_e'present age
of Mr. Sanyal?

(A) 48 years

(B) 50 yéars

©) 54 yeérs'

(D) 60 years

Study the follov#ing-fig'ﬁr'é s

Which number wag opposite to'1 in
the cuboid?

(A) 3’

® 4

© s ,
D) 6

CSP-24/2.¢

12. §ige AUAE Eale eod olF 92 |

QOda 87 4 | 604 6 adasa 6aATIRE
QUAR TGS 5 : 2 629 | FIYS ANIAS

RGP YAl 6969 ?

(A) 48¢qd
“(B) 509§

(©) 54 o

@) 60ed

13

- ULeARa 1a Jaale G Rl QST

13. 3609 Fag aguie eq |

re

QIR }Q |

@) 3
B) 4
© 5
D) 6




14,

st 2o

Directions (Q. Nos. 14 and 15) :
Each of the questions below

~consists of question and three
statements numbered I, II, III

given below it. You have to
decide  whether the data
provided in the statements are
sufficient to answer the
question.

Seven persons A B, C, D, E F and
G are living in seven d1fferent floors.
Ground floor is numbered as one

and the above floor is numbered as |
two and so on till the topmost floor
is numbered as seven.: Then F hves :

in which floors? |

I E lives in the odd numbered-'
+ floor below A. The number of 2l
floors above C is the same as

below D.

not live in the even numbered
“floor. E lives

numbered floor.

III. A lives in an even numbered

floor. F lives below C. C lives
two floors below G.

(A) - Only I and IIT are sufficient to

answer the question

(B) Only I and IT are sufficient to
answer the question

(C) Only II and IIT are sufficient to
answer the quest1on

(D) ANT, 11 ang 111 are sufflClent to
answer the question

There are two ﬂoors between -
where B and, A hve G doesf

floor. B lives below the third - ik

14,

I BweA .ogegol-gm AUER gaF

immediately | o
above D who lives in the odd‘ e

. g6evR ggea gg e 96R LULIRYQ)

B i 'E, A oeR agq Ry S

LTI

Geaalant (9. 14 8 15): 969 SRS

1, IL, TIT @6 858 36218 398 o8|
Zlogs F98 6aqlg 989 6d F9@ca
Feldiaeel 98y 9ga @ea 69el dig
a6e8 @ QF |

AK€ @ A, B, C, D, E, Fue° G
- 216F 83 AeRIsa agal op FeRIg 1Q
- 6 999 A2AIQ R BYQ NFAA G196
A6SIE FZRIG S 898 WY SRR |
F 654! F129160 914 968 ?

. F12RI6Q Q6L | C @aex gml |

. e D gew aeql el A2
’ g.qcum

aeRl 281 G qq Qe G
 CI2RI60. 062 AT | B aigg aog)

- Q88 F2RIsa 9ggel D Ok adsa
A2RI6Q Q6e | ‘ '

A N@ g9 i FF] aenisq
Q621 B 9019 F2nl 967 62l F
C 96R @62 I C, G 0Ig 9a cleq
G6@ Q6L

T (A) 6R9R I e° IIT gge @@Q 0QQl

a Qe |

(B) 699 I 9e° I g4Q 28a 6eal

JIR A6 |

(C) 6qa@ II e° III gaa QAR 6QQ

GI@ a6 |

aqa I, II qg° II1 QQQ QR 6Ll
aIR 62 |

D)

~ CSP-24/2-C
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L.

II.

III.

(B)
©)

A)
B)
(©)
@)

(A):

®

15. Among five friends S, T, U, V énd
W, in which direction is S with
respect to W? '

S is to the West of V and to
the South of U. U is to the
West of W. :

T is to the West of U and
Southeast of V, who is North
of S, V is to the East of W.

W is to the South of V and

North of T, who is to the West

of S. L E
Only I and II
OnlyTandTII =

Only IT and ITT -

Any one of fhe three

16. Select the missing number ‘fr‘c‘)_:m the‘ )
given responses ' :

12 (2] ?

98
88
108

None of these

15. Qi @699 S, T, U, V9&° W qiea, W
AGREQ S 6QQ TR 2T?

16.

I

L

III.

@
®B)
L ©

o

S 6228 V @ giidsa 9e° U @
QQ86Q | U 6228 W Q 98icsa |

T 6228 U @ 98ic6a 9@° V a |

QREgL6R, B9 S Q 28a6a | V
6208 W @ ga6q |

W 6208 V 9 e8¢6a 9e° T @
Q@a6e, 84 S @ aficea |

609R 196° II

@ 1@ III

ceeR e Il

B6RIG rIg 6A6MAA 6T |

YR AIRER AT CRH?

A)
(B)
(©)
D)

o [8]3]59
16535
122 ?
98
88
108
NQER IR 6RERE 62 |

CSP-24/2-C
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Direction (Q. Nos. 17 and 18) :
Given below a statement followed
by two inferences. Choose the
inference that can be inferred
from the given statement by
selecting the right option.

17. Statement :

Out of 20 students in a class,
15 passed in English and 18 passed
in Mathematics.

Inferences :

I.  There are few students who
passed in both the subjects.

II. No student failed in both the
subjects.

(A) Both inferences I and II follow
(B) Only inference I follows
(C) Only inference II follows

(D) Neither inference I nor
inference II follow

18. Statement :
Due to the rapid increase in the
pandemic most of the states are
locked down. I3
Inferences :
I.  The pandemic is dangerous

II. The pandemic will spread rapidly

(A) Both inferences I and II follow

(B) Neither inference I nor
inference II follows

(C) Only inference I follows
(D) Only inference II follows

17.

18.

G698 (94 Qo 17 4e° 18 AIR) : Ag6a
Q86 aAgAIR asa e 98 FuIRE |
] dee ouf @ gea Q98Q
2AIRRAIAIR AR QR AGAUR QR |

§(£§: X
6015\ 6441160 20 B4 BIGT IR 15 @&
RAUFIER IS 18 4 GGG6R AIQ *A8E!

2GR

I Qoo Jed6a aiq *8gel @8 818
288 | i

II. 6Qled - 819 Q08 Q996a
670 621R FI2IF |

A) eea agae I <o I agaed
@68 1

‘B) 6wer agae I 29aad 963 |

(C) 6@en 2geR II 2908 /aGI

D) agae I & agae II agaes
Q93 |

ﬁgéz ¢
ARAINT. g0 QF 629 WArd QIR
RALIAK 629 | ;

AGAIR:
L aaqer daegd

I A2Ae geassa qde |

&) eea agae I 9e° II 2gaed’
Qa8 |

B agae I @ agae II agded
@03 QIF 1

(©) 6wen agaIe I 2gaAad @aB!

(D) 6997 agaIe II A99ad @a3l

CSP-24/2-C
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19.

Direction (Q. Nos.. 19 to 21) :
Study the given table carefully
and answer. the questions that

follow :

Semester Fees (In thousands) for five

different courses in 6 different years.

Year Course

B.Tech.[M.Sc.[B.Ed.M.Phil.| Diploma

2005 115 [ 5.8,| 75 | 4.7 18

2006 | 14.5 | 6.4 |116| 58 | 3.2

2007 20 102|139 8.6 4.8

2008 | 22.2 |14.6(15.8| 12.7 5.6

2009 | 35.8 |17.7(185| 25.1 12.5

2010 | 50.7 |20.9|22.6| 18.9 14.9

What was the approximate per cent
increase in the semester fees of

B.Ed. course in the year 2007 as

19.

G609 (g9 Qo 19 @ 21): gea
QARGIR NRVIIEA AUAR *R I9° RSN
99969 29ada :

22 fSaedsa aigd @a qoiga ag

62718 & (251969)

ed Qioige

[R60R. [NAWQd. [1vQ. [« da. ([Fsqueal

2005 | 11.5 5.8 75 4.7 18

2006 | 14.5 6.4 116 | 58 3.2

2007| 20 10.2 139 | 86 4.8

2008 | 22.2 14.6 15.8 | 12.7 5.6

2009 | 35.8 177 [185 [ 251 |125

2010(50.7 | 209 |226 | 189 |149

ge od genIea 2007 AdeEa §.Q.

A0IFAR 6QAFIRR TR I IGRP| 6868

compared to the previous year? 1R Sranr
A 26% A 26%
B) 30% B 30%
) 20% ©) 20%
D) 16% D) 16%
CSP-24/2-C [P.T.O.



20. What was the average semester fee
charged for M.Sc. course over all the
years together? :

(A) Rs. 12,700
(B) Rs. 12,600
(C) Rs. 12,060
(D) Rs. 12,070

21. The semester fee charged for M.Phil.
course in the year 2008 was
approximately what percentage of
the semester fee charged for M.Sc.
course in the year 2009?

Q) 67
B) 84
(C) 80

D) 72

22. Select a suitable figure from the four
alternatives that would complete the
figure matrix.

JAVVNE N
]
LI

AT

20. QAg od AUeR YENQE. QI0IGAAIR
QRS 6ANR T 6060 YAl ?

(A) Rs. 12,700
(B) Rs. 12,600
(C) Rs. 12,060

D) Rs.12,070

21. 2008 ¢dea <AFR. qIoNga QIS
ARG 62IRYQ! 6aAQR & 2009 AT
9ANQE Q0IgAaIR AR 6AARYSI
6Q718Q &Q gIa 6066 o8 gal ?
&) 67
B 84
(©) 80
D) 72

22. 9g AIGeq a4 @ISl SIkaIE Gaag e

Qage g QIag |
JAVVNEN
-
LI -

A

@A) 1 @) 1
®) 2 ® 2
© 3 © 3
D) 4 D) 4
CSP-24/2-C 12

23. Six people A-F around a circle,
facing center. B is second to left of A.
C is opposite B. D is between C and
E. F is not neighbour of A. Who is
opposite A?

®)
®)
©)
™

H o=\ O Q

24. New letters are added to the set of

English. alphabets where the
number of consonants gets increased
by 57.14%. If the number of new
consonants equals the number of
new vowels, by what percentage
should the vowels count be
increased further in order to make
the -count of consonants and vowels

equal?

@A) 5,0%‘
(B) ' 94%
(€) 68%

(D) None of the above

23. 6a9 2GQ % 98 IR 9] SRAINR
22R6 A-F 283 | A @ QIAQ §9199196Q
Bad I Ba&daqiesa Ca8 1 C 9 E
u6a D 25 | A @ 969161 F g6¢ 1A @
Q001660 &9 28 ?

@ C
® D
© E
O F

24. QI 9dAIRIa €A 68 §OR 299
6QIGITEA MBRRd G 57.14% §F
an | 98 §er Beed QW §ee
q0ed @ —éée QIR 94, 6969
AZERY ‘\;1@“ 90°4 @dql QIR I
as qeed qaRIg 6968 9o8e QF

QaIde @] ?

A) 50%

®) 94%
(©) 68%

(D) QQ6AS AR 6MNTT g6e 1

CSP-24/2-C
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Direction : The Table given below Gediq: Ggea @dIAINYR 659RE 691G

25. If a mirror is placed on the line MN, 25. Q@ MN 6046 9@ QdE QHII, 6669
related to the population,

Qdea G6RIT AIRa |EQTY, TR,

then which of the answer figures is v 3
th 690 @86 2@ gea g4 2wa d0] : literates and illiterates (in
the correct image of the given a5 2 thousands) and the percentage of ¥Q° G000l (2RIQ 2RIQ A°HIER) 9Q°
' literacy in three states, in a year : QAFAGIQ GBI ARG ARF |

question figure?

89 : —
a E State | Population [ Literates | Illiterates [Literacy (%) QIR | eyl | Q@esl | FaMee | AIBAE (%)

Question Figure :
A | 60000 | 6000 = = A | 50000 | 6000 - _
- 10000 15000

. B
8 _‘; ? B - 10000 | 15000
! C [ 60000 1z
g—g ; C | 60000 1z
k) g

(6598 2RINER G§ I 27 @ 299

]

After reading the table, answer

28R 88 : ; Y
the following Questions 27 to 29. e9ageRea )

Answer Figure :
?_g (g—g g_g g_g 2 g g 8 g g g_g : 27. Percentage of illiteracy in state B is? 27. QI9Y BQ fa900/Q 219 6862 ?
. A) 50% A) 50%
A ®) © O
@w ® © O @
B) 55% B) 55%
. . ©) 45% © 45%
26. Which one of the following is NOT a 26. QAQY AARIE AN FARYS FRIQ 6QAG
D) 60% D) 60%
hinking i der to sol 5 B -
may it & B oreen 0 51 9691A 4% aaIa g6 ?
problems?
() Algorithm () 2IR6aIaRA (Algorithm) 28. Population in State A is greater | 28. QIgy AQ fQQ°¢ll 21, QIFY BQ @Q°all
. than population in State B by? 2AR0IR 6960 2R ?
(B) Trial and Error (B) Qi8I ¥e° & (Trial and Error) @A) 50% @) 50%
2 0,
(C) Heuristics (C) 26484 9e9! (Heutistics) ®) 40% ® 40%
©) 80% (C) 80%
(D) Anagrams D) 2RG (Anagrams)
i D) 100% g D) 100%
CSP-24/2-C 15 [P.T.O.
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29. Population in State A is less than
that of State C by?
(A) 16.67%
®B) 16%
(C) 17.33%

D) 20%

30. The process of judging some problem

situation on the basis of its

similarity with one encountered

earlier, is known as

(A) Anchoring heuristics

(B) Heuristics of

representativeness
(C) Adjustment heuristics

(D) Availability

L

29. qigl AQ K93 QIRY CA FAATHIOIR
6@60 Qe ? '
(A) 16.67%
B) 16%
(C) 17.33%

®) 20%

30. gdg agens eemyel QA Ade

QARG 2N §F AAVIAREE TeIQ

RA9IQ gFAIQ gRIAN ?
(A) aedr  9488F . (Anchoring

heuristics)

B) goRNge 9408 (Heuristics of
representativeness) ‘

(0 eee6Ag 94987 (Adjustment

heuristics)

(D) 29R%6! (Availability)

CSP-24/2-C 16

31. A cube of éach side 15 cm, has been
painted with x, y and z colours on
pairs of opposite faces. It is then cut
i'nto' a _s‘mall cube on each side of
3 cm. Then calculate the difference
between ﬂ'_xe number of cubes

painted on all three sides and cubes;

R which are painted on only two sides.

A) 36
B) 28
(C) 16°

(D) None of the mentioned options

82. How many squares are there in a

31 geeve aif 15 6af.Q 9@ 99g Jaqe
(4R 6QIGI6R x, y 98° z QS A6 Q&
QaITIeE | GI06R 2Ig 3 6a.f. A8
gecie aidea @ 6816 9aea QT
QuQIRE | cIaee S6RIT adéa aer
QAITIYS! SRR 19° 6297 8% aidea
QF QAIKINAR! IRR FIER AITRY TR
Qal
8 36
®) 28
© 16
(D) eRYe Feegde Mg 6EIE

Q6€1

32. 8 x 8 2R 6CITN 699 6RATER

chessboard of size 8 x 8? 6a66IT adieng a1
&) 184 (a) 184
B) 194 (B) 194
(C) 204 (C) 204
(b) 214 D) 214
CSP-24/2-C 17 [P.T.O.



production of Maize and Jawar
(in ‘000 tons) over the period
from 2011 to 2016. Refer to the
graph below and answer the
Questions that follow :

02016 320156 02014 32013 M 2012 32011

L
F1699
Jawar \m“
I m\‘”l;’
‘ v v ”n'
Maie (e 1]
700

0 100 200 300 400 500 600 700

33. The ratio of production of Maize in
2011 and 2012 are :

A) 3:11

®B) 7:22
C) 35:11
D) 7:10

3

'

- In which of the following years will
the production of Jawar be 100%

greater than that of Maize?
(4) 2016
(B) 2014
) 2012
®) 2015

CSP-24/2-C

Direction : (Q. Nos. 33 and 34) : feaa: (99 ol 33 N9° 34) G6R g
The graph below shows the g 2011 @ 2016 adie a8l 9e° gz

33.

34.

.(B) 2014

"(B) 7:22

(Jawar) @gIe (000 SR 63) adiag)
o60gQl 919 604 R9RYS-99R eea
@l

02016 @2015 02014 032013 M 2012 @2011

IR AN AR NN ANAY]

Jawar

| J
4700

0 100 200 300 400 500 600 700

Maize |-

2011 99° 2012 69 FIRI QYLFR 2AFAIS
6208 '

@ 3:11

(C) 35:11
D) 7:10

aeqd 696 od giesa a2 (Jawar) @
QQIR AR SRR 100% 2R 6297

(A) 2016

© 2012
D) 2015

& 281 O ECERI
18 2

-

Read the following passage and
answer question 35 and 36

- below :

At a weekly team meeting, the

project manager, Arati asks for

. updates on the “Pratham” project.

Rabindra, a junior team member,

reports that his part of the project is

facing a. significant delay due to

unforeseen technical complications
with a new software module he is
using. While Rabindra is explaining
the issue, he seems flustered,
avoiding eye contact with Arati and
speaking in a low voice. As he
finishes, his colleague, Abhilas,
immediately interjects, “The
problem is that Rabindra didn’t read
the documentation properly. The
instructions for that module are
very clear.” Another team member,
Rabindra’s

discomfort and calmly asks Abhilas,

Sunanda, notices
“Did you have a chance to look at
Rabindra’s specific code, or are you
basing that on the general
documentation?” This prompts a
more constructive discussion where

Sunanda offers to help Rabindra

‘debug the issue.

GIRYe 29689 A9 IQ° 96R &9l g4
35 4e° 36 @ Q8 fag:

AGER R 6T0R69, geE AReIRRI
2061 gae geg Fa96Q 2T68T AIeE |
F64 §RIQ @A A9, 991G, AsaI
Q98 60 OIF gReR 2ra QIS Q1eeia
Qgaal ‘\1@ 90R AU Agym Ade
2geuidic 65ade *GRel ealg Qsag
QRQ ARHIR 6208 | 9919 AAWIF
GIIRAQI AAAER, 69 TG AR AR,
2061E 986 2 AR QIR IIN6A
Q2 62083 | 6Q QIdY 68T @GSl A6
QIF Aeedl 28RS gas Qi 9§ 963 |
A 6298 69, ARG ©QI6reLaR O]
Q9CQ 9§ QaeR | 69F AR AR
G6aaIaRT 9g6 Q" AR R64 9RA
QeQY, gA%l, aQIEs Q99 Al Q8
NG 4I8 QISER 2RRIVG AFIRE, “2UAST
QIHER AFT FER 6219 69gRIR 6
4Rl B, Q1 WA AVKE FEFELAR
QU6R AR @eEE?" W9l @ YR
CORARe  ACRISRIG  6dedl &9
660168 ARl QR AW QAR

QAQI6Q AR QTG gaIe TF |

CSP-24/2-C
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35. What did Sunanda demonstrate by

36.

asking Abhilas a clarifying question
and offering to help Rabindra?

(A) Leadership, by taking charge
and solving the technical
problem herself.

(B) A lack of objectivity, by siding
with Rabindra against Abhilas.

(C) Empathy and active listening,

by recognizing Rabindra’s
distress and steering
the conversation toward

collaborative problem-solving.

(D) A systematic communication
style, by focusing only on the
technical facts of the issue.

Which of the
describes Abhilas’s communication

following  best

style and its effect on the team
dynamic?

(A) Assertive
(B) Aggressive
(C) Systematic

D) Passive-Aggressive

CSP-24/2-C
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35. 2GRIEe 9@ 9R1RE. 99 [N

36..

(C) 499196 (Systematic)

QeIgg A ARG 9T 69R gARl

@'a gade Agen?

(A) 67gR TIAQ 69Q NQ° FeR 6JaaR
aAQIR QRIS @Al

(B) 2RQIAS FQR6Q QIS Y )

~ qgheea Zeiel ’

(C) QUIgee ¥e° d5a 996, ae
Qeeiq 6F WQ° RIS AR6AIT!
QnQY AARIR 2SG 7R |

(D) 6297 9AFQ CRTLR 24 QUea

UR 6eq W@ QIede eaIGIsa

6301 1

RIS 6K 63R1 9Q° QRQ
51IRGI Qa6 N galeg FgRgYe
IR 6205 Q6NN AIG6R QLRI F6R?

(8) 61594 (Assertive)

(B) 2GR (Aggressive)

D) FFa-agaane

(Passive-Aggressive)

37.

38.

. mark ‘?

.D) 4

The binary eciuivalent of decimal

number 98 is?

(A) 1110001
(B) 1110100
(C) 1100010 -

(D) 1111001

Select a suitable figure from’ ;che four

alternatives for the square with the

©

-~

71k
ORI

@ 1
® 2
©) 3

317.

38.

Qafie aey 98 <QIaRIal AAGAY

62087

(&) 1110001
(B) 1110100
(©) 1100010

D) 1111001

2" 52 g0l edle8g OIR GI6QIE §eag ¥

Qa8 6g QIeg |

i CUIE

> @
Y. @
12 3 4

@ 1

® 2

©) 3

D) 4
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Direction (Q. Nos. 39 to 42) :
Read the given passage and
answer the questions that
follow. Your answers to these
questions should be based on
the passage only.

In a disarmingly frank talk at the
Indian Merchants Chamber in
Mumbai, the Japanese Ambassador
in India dwelt at length on issues
that exercise the minds of Japanese
investors when they consider
investment proposals in India.
Raising the question “What
comparative advantages does India
offers as an investment market?”, he
said though labour in -India is
expensive, wage-levels are offset by
productivity level to a large extent.

Acknowledging that the vastness
of the Indian market is a great
inducement for investment in
manufacturing industry, he
wondered if it was justifiable to
provide that overseas termittance of
profit in foreign exchange be fully
covered by exchange earnings as
had been done. Significantly, on the
eve of the Prime Minister’s visit to
Japan, the government delinked
profits repatriation from exports,
meeting  this demand. The
Ambassador said foreign investors
needed to be assured of the
continuity and consistency of the
liberalisation policy and the fact that
new measures had been put into force
by. means  of  administrative
notifications  without amending
government laws acted as a damper.

The Ambassador pleaded for speedy
for'mulatmn of the exit policy and
“pointed to the highly restrictive
control by the government on
disinvestment by foreign partner in

Geaa (g sl 39 @ 42 AIR) : gaR
QBegedg QI0RG 998 g49Pea Qaa
Go 1 g9e QeeF aleRee G8ed
621RYR ZUIENR | :
U198 QTR AGIE, SR 60 9@ Fag
e Q8 AIPRIER QARGER KA
QALQE QINGER F6Q4 geIe gEe FoiR
QORI ANAEA FIAIFT FERFRAINT ARG
QIS @QYRl 9T gFR eaca dge
A6 2RISR YA | "AQS N
669010 QIGER Q'G GRS gaI
geIe 607" 94a0IR 69 Q226R 6a
NR6R 71 FITET 62ARYER F1 FGF 2
QgaRAINEa QARG 2R T FAd
QQIAN | :

QecH ERR SNIRGI QUSRI
F6ReaIa e A21] 6g0d 6IR I1RIA 68
62 2 gRI9 AREER 64 F6QEIFIER
[Iee F6041 20y 7oA e FIe a4
AUNBA godl @AQl ald & 2 GUIRARIT
QAN I AEATFT DA QIR
920 god @8 agIfg QIR geUIERg
ARGl GEYsR | AIRGe @FYem 64
F6ea1 FeRaering QARG A166R
Gasa6l §a0l We° Qeeel  AR]
QAT @ @} gaIAde 8T AR
999 99680 QIieIRT QaIIRS, oI2l
486 QAIdal 2Ieane |

QUGS GRARRIGA 1GFI0R QIR 2GRN
@dgen 99° IR AFe @ISR
J6QaN raRes gIal SF6AIN QT6a
AR AT F60IQ FARG 9T AFE

@0g6n | 976 Qeea 0FEE @ase

CSP-24/2-C 29

joint ventures in India. While it is
all too .easy to dismiss critical
comment on conditions in India
contemptuously, there can be little
doubt that if foreign investment is to
be wooed assiduously, we will have
to meet exacting international
standards and cater at least
partially to what we may consider
the idiosyncrasies of our foreign
collaborators. The Japanese too
have passed through a stage in the
fifties when their products were
derided as substandard and shoddy.
That they have come out of that
ordeal of fire to emerge as an
economic superpower speaks a much
of their doggedness to pursue goals
against - all odd’s  acceptable
standards. There is no gainsaying
that the past record of Japanese
investment is a poor benchmark for
future expectations.

39. The author has appreciated the
Japanese for their :

(A) quality of products
manufactured in the fifties

(B) passing through an ordeal

(C) perseverance in raising quality
of products

(D) future expectations
40. The purpose of the author in writing
" _this passage seems to be to :
(A) discourage foreign investment
in India

(B) critically examine Indian
investment environment

(C) - paint a rosy picture of India’s
trade and commerce

. (D) criticize government’s
. liberalization policy

39.

40.

AACAILAIFIRS AR AAIRFRR
QLR AR @AQ Qge A2, 996a
67ad asre AIF 60 AT T6a A
21Qa GARIg U6, 6969 AAQ ASFIGIA
Aeeg gea QdQig age | @l AFe
2Bee 6@ ArdeNesq Afa 6aal
QAREAIGIE F6aUQIQ god Qg aGQ |
FARICER TRl TPIIRER6ER 1@ ALY
6eQ 98 R08BI 6J6E6RER 6ARIRT
QqQiegde Aafrea W& Gga QIR
Q02T GAIAIRAR | 6QFIER 1@ AR
AUPRIeEa  aaeeed  6a2
Rgeimg Q@@ ad aag aglul
3ga6a AQY QAN SAEQ 6ATINTR
QegdmIg 9a96a | g6a 6Alad asae
qiF ea qae Feea 290Q 98
28946a 2161 AR IR AL AIFTS |
6REQ ITINIAING 6N 98 AT
9a°QA KSR
(A) Q9 QI9ER QTG 9YQ
geeal
(B) < 2TAR1V 699 6T FQARAR
(C) 2Qea gaeal 98easIea
Q@el
D) @{a4e 24!
@ 9G6gRT] CAYQIER EASIAT AR
a6QgN :
(&) Sesa JeaaIRceaeg fgade
exql
(B) NASIVFEA AAERAG
QAACAILAIIRS QIR ARV KA
(C) QUecea QM 99 6QAIQ IR
SAIRIAITE AT
ARIAT AANFAENTY
QAAISRAISR @R

=

)

~
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41. According  to  the

comparative advantage to foreign
investors in terms of :

(A) inexpensive labour

(B) abysmall;' low wage levels
(C) higher productivity

(D) none of these

42, The author attributes Japan's
emergence as an  economic
superpower to :

1. their ability to overcome any

ordeal
II.  their tenacity and
perserverance despite

unfavourable circumstances

III. their ability to-improvise and
adapt to globally acceptable
quality levels.

(A) IandIIonly

(B) 1I and III only
(C) IandIIonly .
(D) All the three

43.In a row of students, Stephen is
sitting 3 to the left of Robert. If
Robert is 10th from the leftmost end
and 6t from the rightmost end, then
what is the position of Stephen from
the rightmost end?

(A) 8n
B) ot
(C) Tth

Japanese | 41. QIR QIRGER AFAIA WIS Jeaqn
Ambassador, India = offers a 5699RAIRS caa 989 ¢hRINR AR

gaIe A6 |
Q) e81ga

(B) 2648 67 A1gaga

(0 9% ees!

(D) -4gEa I odleas s¢ |

42. GREIR FIUIRR IR 2ICETR A2I9d

" Q1060 Q09 62919 QIRE ¥ -
i3 6a 676d 2EaNAI 98 QEIQ
S 1
I.  gOgR Qa0 Qa6q 6QAIRGa
Q61 Ie° RFEG!

1L &9396Q g261a gEeaIda a8e
QA% ¥9° ¢Ia ¢RINRIA SE6!

&) I9e° 11679
(B) II4e°III 6aQ%
(©) I4e°III 659
D) Qg &RGaIR

43. FGAIRT 9@ uFeq Tean. Qe

‘AraIgen geagInea @38 | 0@ 6ed
QAAANQ 267 e° gIRigiaIdp SaTIRER
28, 6669 G129 AIdg Fearaa 9IF 96 ?

(A) aaq
B) @ea
(C) qgqa
O sa - .

k_}
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Directions (Q. Nos. 44 to 46): The
logic 'problems in this set
present you with three true
statements: Fact 1, Fact 2 and
Fact 3. Then, you are given three
more statements (labeled I, II
and III) and you must determine

- which of these, if any, is also a
fact. One or two of the
statements could be true; all of
the statements could be true; or
none of the statements could be -
true. Choose your answer based

- solely on the information given
in the first three facts.

"Fact 2: Two of the children have
blue eyes and two of the
children have brown eyes.

Fact3: Half of the children are
girls.

If .the first three s.tatements are
facts, which of the following
statements must also be a fact?

I.  Atleast one girl.has blue eyes.
II.  Two of the children are boys.
III. The boys have brown eyes.

(A) Ilonly

(B) IandIIIonly

(C) IIandIII only

(D)' None of the ‘statements is a

P60l (99 AW 44 @ 46): @ 627 6Q

44. Fact 1: Jessica has four children. 44.

gl oo aaay 96 ¢ag Geald as
G908 goIR 96Q : A9Y 1, 94 2 ¥°° I
3 19/06Q 9A1g 22 36R1S G898 (1, I 9e°
I 6a9R) faIAIRd | ¢Ag Gdacaalg
98 64 NgER IR 6948, 97 6T,
M@ a9 | 6aIGN & gaF 998 A
62104169, A8 598 94 62IRAIE; F
6716d §98 AsY 6aIRAIsa QIF | gael
S6RIT casa ARSI IoRI AUER
ZRIQ Q0 AR QIR |

Q2 1: 6891 9165 dm 288 |

Q2 2: GRIAINE AR 9aT FlRay 9e°
a6 daiga aical aig 28 |

Ga 3: SAIAIRE AuQ 21 2 |

QA% gan G6QI5 998 ARy, 696Q FARYe
QQAGEe AUQ 69EE A 1@ A 624
QQ? =

L 250a6a 601N G2 e1gaIgy 28!
II. JRAIRS AR §RE g2

I QRARES AiSaIIy 281
() 6aeR 1L
(B) 6a9RIve° III

(©) 6999 II e° I

(D) 663 Q88 caIgal ged |

=

known fact

CSP-24/2-C 25
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45. Fact 1 : All chickens are birds.
Fact 2 : Some chickens are hens.
Fact 3 : Female birds lay eggs.

facts, which of the
statements must also be a fact?

I All birds lay eggs.

1L Hens are birds.

III.  Some chickens are not hens.
(A) IIonly

(B) II and III only

(C) L HOandIII -

known fact .
46. Fact 1: Pictures can tell a story.
Fact2: All storybooks
pictures.
Fact 3: Some storybooks
words.

facts, which of the
statements must also be a fact?

I Pictures
better than words can.

very simple.

words and pictures.
(A) Ionly
(B) IIonly
(C) II only

known fact

(A) Size of the problem
(B) Similarity of the problem
(C) Complexity of solution

(D) Organization of problem
situation

If the first three statements are
following

(D) None of the statements is a

have

have

If the first three statements are
following

can tell a story
II. The stories in storybooks are

III. Some storybooks have both

(D) None of the statements is a

47. Which of the following is NOT.
characteristics of problem situation?

45.

46.

417,

Ga 1: 42 ggel 9t |
oo 2: 68 999! AINgGe! 268 |

ca 3: QIR 28T |

Q@ gan S6qIE J98 A6, 6669 FaRge
GqaqER FuQ 6Q4T QGIETR ZIQENR?
L QA8 981281G23 |

IL. €IeQ9eIfIes asl |

IIL &8999 AINg9el 998 |

(&) 68eR II

B) 62e® ITe° 11T

(C) 1,114 I

D) 65168 @ a6y 96igeI g6 |

oa 1: §YER 9@ QI8 /TAI6a |

Qe 2: AFIg QIRIGT IR6Q FG 2 |

G2y 3: A8 QIR GIARER G AN |

QA% gaie G6aiT 398 A6y, 6669 FANYS
G9RgEa AR 6R6E AcYEaRl 95 ?

I Jogde a0ueasl ORI
Q2N 226 |

I Q2EIgees AGIgEe <88
aeR | :

L & @6l g8aea de 19 88
Qea e | : -

(A) seerl

(B) 6heR I

(C) eeR III i
(D) 6763 T Q64 NI G6< |

AoRge U 6ade aaay aRAtR
63594 g6< ?

(4) EWR ARR

(B) QIR AAIGS!

(C) QaIQ KT3I

(D) QY 9Ggea a°q0e

CSP-24/2-C
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48. Direction :

49.

Below the. queéstion,
are given some statements,
followed by some. Take the
given statements to be true,
even if they seem at variance
from commonly known facts.
Read the conclusions and then
decide which of the given
conclusions logically follows
from the given statements
disregarding commonly known
facts.

Statements : All beauty are
makeup. All makeup
are product. Some
fake are product.

Conclusions :

I.  Some makeup are fake.
II.- All product are beauty.
III. Some makeup are beauty.

IV. Some makeup are fake is a
possibility

(A) All conclusions follow

(B) Only conclusion III follows

(C) Only conclusion II and III
follow

(D) Only conclusion II and IV
foll9\v

Pipe A fills tank in 6 h. B in 8 h,
C drains in 12 h. All open together.
Time to fill?

48.

7646 : FORYS 946a 78 39R F2ART |
orasa 48 ad GUARE |1 gea
89890 JeucaIR ¥R fal, AQ36 6ageR
QARIRESE QEIGSI SAI0IQ R AR |
fad 4@ ¥e° oraca f9a 99 6a gea
Fadgee AUQ 6946 ARG REIGEI
Selg 2463 @] GIFR SIS6R F9RgER

. 2gQed @6 |

49.

ang ededy erqaq |- Qg
661R20 QYIR | @8 9eR QI |

qqa:

@8 6aQaq Faf |

ang aqie 6dledy |

III. &8 6aqaq edlady |

IV. &% 6AQaQ Ao 62910 QALK

(A) QA3 GFed 2A9ARE 264 |

(B) 6aeq fad 111 29206 @64 |

(C) 6aee @ad II we° III 29Qad
Q6R |

D) 6eee fad II we° IV 29aad
Q69 |

ARG A 61GQ 6 A6, B 8'A9I6R 9od
Q6Q 1 C 12 Q96 8IR 961 | A QIO
3R g @AQIa ana ?

A): 4h &) 4h
(B) 3h . (B) 3h
(C) 2.4h ©€) 24h
D) 6h (D) 6h
. CSP-24/2-C 27 [ P.T.O.




i) ___ s S Direction (Q. Nos. 51 and 52) : Geda (g9 @sul 51 52): @A
50. Direction : Below the question, | 50. @edd : FARYe d46e @8 @9@ |- " . (g 2 52)

L . 3 Match definitions to particular aoadale eIl 6 ea | geeie
are given some statements, Gaaed 6rasa fi &8 Gad JaIeg I situations. For each question, you . N _
followed by some. Take the gen aqighe aEweR ¥8 71 -~ are given a definition and four dadix @F19 9! AT I QAT
given statements to be true, : i possible answer choices. Read qaIRY e9a  9ae @AQIg FUAIRT |
even if they seem at variance 6Qge@ ARIAEGS REIGA GA0IQ @R each’ definition and all four geRHR JaRIal 9e° QA3 QI6AIT aAe]

‘ ly known facts. aas o QP a8 i : ~ .
ronts commpnty oo AR 1 GaE A 1% Grasa Ba 99 gogicen, Ehrcrully. jendl 0d N QR0I6R 0@ ¥e° goa CanITIR asdiag
Read the conclusions ‘and then Sadate oua codt Aniess: answer that provides the best

' 5| G
decide which of the given sageas 8%1 2 example of the given definition. QAIZAd GaIR @RS ARAT 6HIR |
conclusions logically follows REIGAI SeNG 26T K& QTR AR .
from the given statements 6@@.@&&399@ Qca | 51. People_speculate when they consider 51. GRIRAIER 6J606Q6R 6UfIse 9@
disregarding commonly known ’ . a situation and assume something to aageQ GoIa 9B, AFAIR K98 °
facts. be true based on inconclusive 250 geId. QUea ARIGRR @8 Qs
. evidence. Which situation below is QR uGRAE | fg6a 6ed a8@e
Statements : Some water is plastic. .@G;@: 75 9§ Qa1 the best example of speculation? agﬂ}m d6QIRF AQILQE ?
No plastic is milk. 698 98K 58167.@6'51 (A) - Francine decides that it would A) IR oF edeal 8] Q.
Some milk is drink. b ; be appropriate to wear jeans to QAF2AR TIREGS’ a6
@@ S Al | her new office on Friday after adeiasa geqm 89 oI5 geR
Conclusions : aag: -reading about “Casual Fridays” zj]djmci s:rg a8 del afq iR
in her employee handbook 098 62988 |
1. All milk are drink. i QA8 VIR IR | (B) Mary spends thirty minutes ®) eaa1 e Gcsa GashRe
I All drink can be plastic. : ~ 2 sitting in traffic and wishes 9dadalg QI21E ¥e° QIeE 6Q 6Q
. I Q98 AIR1a IR 62ARAIEA | that she took the train instead Qf ARl adesd 6] 61
III. Some water is not milk. N of driving QAIR2IES|
’ 1. @Fadsmges | . .
(C) After consulting several (C) eae AIRR-9] 9e° GIF FIEaR
guidebooks and . her travel 6ees Q@0 qand QAQIasa
(A)  All conclusions follow. (A) QA8 A3 AgARS @6Q | agent, Jennifer feels confident 6909 2RUQA 29ee 988 6Q
@ od I B B o i T T e that the hotel she has chosen is 62 694 62165 QIFaE, G121 gain
an @Q Ne®
y conclusion ®B) ¢ II. &gy first-rate cgama |
follows. Qa1 '
(D) When Emily opens the door in (D) 6960696R WA @ QT QU
(C) Only conclusion IIT follows, * © 69w Fad I1I 25994 Q64 | s, (U mieesss. W chic e S SadarSes B Sk
2 : had a death in her family AAAIAER RIVIQ I 62T |
D) None follows. (D) 641935 21gaas a6a QIF | ] 5
P-24/2-C 29
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52. Embellishing the Truth occurs when

a person adds fictitious details or
exaggerates -facts or true stories.
Which situation below is the best

example of Embellishing the Truth?

(A) Anuradha goes to the theatre,
and the next day, she tells her
co-workers that the play was

excellent

(B) The realtor describes the
house, which is eleven blocks
away from the ocean, as prime

waterfront property

(C) During the job interview,
Rahul who has been teaching
elementary school for ten
years, describes himsel'f as a

very experienced teacher

()

=

The basketball coach says it is
likely that only the most
talented players will get a

college scholarship

52. 6A6E6RER QGIY QNRQ . DA,

6U606Q6R G6¢ QB QIERe Geqdn
caRaN @ eeN QU ANMRISG

25080 @6a | G76a 699 966 A%ig

ARARIQ ACAIRC GR2RE?

(4) agar 2Neqg QRIS e e
6Q Ol Aeadlg @e8 64 AIERT
Q@ Al |

®) ‘éxma (Realtor) Q99Q qglg R
goca gel 999 OUY SRR
(waterfront) Q@ Q96 QR
Q08 | :

(©) ¢1Ra ANGRIR AAAEQ Q9T
gefie §eueasa . a0  agesl
AgR Ao Q64 UGS AR ASQ

Q1960 Al @aB |

(D) <I62eeR giae @23 6a 92l AR
60 6@°% QQolp gt
CHRIGAUER Q6] ARG

AR |

CSP242.C - i

Direction : Read the following
passage and answer question
53 to 56 below :

Effective  problem-solving  and
decision-making are crucial skills for

‘navigating life’s challenges, both

personal and professional. The
process is not a linear one but rather
a cycle that often begins with clearly
defining the problem. A common
pitfall is to rush toward a solution
without fully understanding the
underlying issue, which can lead to
treating -symptoms rather than the

- cause. Once the problem is defined,

53.

effective decision-makers generate
multiple potential solutions,
resisting the urge to settle on the
first idea. They then evaluate each
alternative based on a set of criteria,
such -as feasibility, potential impact
and resource requirements. This
step often requires a careful
analysis of trade-offs. The final
decision should be a reasoned choice,
not a quick, gut reaction. Post-
implementation, ©  the process
concludes with a crucial review of
the results to understand the
effectiveness of the chosen’ solution.
This reflective step is vital for
learning and refining one’s approach
to future problems.

According to the paragraph, what is
the first step in effective problem-
solving? :

(A) Generating multiple solutions
(B) Defining the problem

(C) - Evaluating alternatives

(D) Implementing a decision

53.

F6da: BORYe 2gese ey I8 96R
29194 53 @ 56 @ @eQ §2g:

F196Q QBUG Ye° QRGe MERBER
JRRAI -89l AR geIeEIRT aAQY
QARIR N9 IR ged 2eve geRgd
QUBI | N RN IR 6QH1A GE SR° IR
08 Q12 gIBes AR & QAR
AdaIfic @R &aa 24 | IQ AXIGE Fae
6207 28746 aaaug ad aIeea @ 98
QAR 2GR ARG, A ARG VR
REEgFea GRa @Gkl AAMIG
Qoalie 62al Q6R, gaiediel IR
JRELAINEE AT ARG QIR FQ
62 Qgig gocar @A e QA
ARIF QE 6B Oraex  6IAISR
QARSI AR GRIS 18° AR ALSS!
87 AIRegR W@ 647 Q6] AR /R
g60i@ Ga0 RIS QaE | <% aQema
QI QOGS 6R96QER (trade-off) IR ISR
Q@6 Q6986 USMR | 998 G 1R
9999 90 62Q 959, 9@ g, ASe
95501 96¢ | Qudugae ase, 9RAIT
AERIRIE ARIGR GARAIRIGIG §aaI
A INTRGFRR 1@ geegd amal
QTG 689 94 | QAVER AIMIYER 9T
fOFQ ATIHG TYR 9L AFe |Gl
A 42 FOIR91R AQ6AA 2643 a4 |
APERC  AQAL!,  ARAIRT QY
QAARILER QAN AL6IA @'E ?

(&) egd QeI Q8 *Aal
(B) QUG aoRIde /dal

(©) T9egEa JRIEES @R
D) A8A AN @RQI
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54. 2GERAEA AR QAIAIRARI IR "ARURAE 57.1In a class, 40 like Math, 35 like

56.

(54.A “Common pitfall” mentioned in

the passage is : Gae” 6208 . ' i !
¥ Science, 30 like English; 15 like both
A) Taking too long to make a A) GeR  6RQI6a AR QAR
@ d:cils‘ilogn o0 ong @ o Math and Science, 12 like Math and
6RQl

(B) Settling on the first solution
that comes to mind

(C) Generating too many potential

. (B) Reviewing the results of the -

implemented solution

(C) Redefining thé initial problem

(D) Delegating the next steps to
others

The evaluation of potential solutions
should be based on :

(A) How quickly fhey can be
implemented

(B) Personal feelings and biases

©) ‘Criteria such as feasibility and

56.

(B) A9 AR 9AA AARIR ATER
ga edal

(C) aABHS QAN QRIS 98 @8l

S(B) Q@i AARIR TRITR QAR

QaQl
© gieRe anaig gRIcAaIEs @aa!

(D) Qeeel GQEIAYEY ANAIRG
29180 AR

QUL AR JRUIFE 1T AER
6291 @56: :

(A) 6agFg 6@ee a1  QIdIRIAT
QQARARS

(B) Q4999 RIRQI NQ° A[AIS
(C) QAIMGI NG JRIQ 0R AIReS

English, 10 like Science and
English, 5 like all three. How many

like atleast one?

solutions
(D) Failing to consult with others D) zaiaies afe aaid @asIea @A) 85 .
QR 629! g
-(B) 83
©) 78
55. What is the final and often | 55. QAQY QAARIG SFER ABEA IQ° JIAGS
overlooked, step in the problem- 2E60%I FAIAINESI D689 §'E? ®) 75
solving cycle? : :
(4) Informing others of the T (A) 798 G996 AMAING SEIRS!
decision = . : :
58. A family of two generations

consisting of six members P, Q, R, S,
T and U has three malés and three
females. Thgre are two married
couples and two unmarried siblings.
U is P’s daughter and "Q is R’s
hother-m-law. T is an unmarried
male and S is a male. Which of the

following is correct?
4) Ris Us husband

(B) RisS’s wife

57. QTN 6g416Q 40 86 GI&eg, 35 /€

58.

"(C) S 6208 27QTe

Smeg, 30 R4 ANy, 15 94 Q0%
aéie 6 Juing, 12 84 986 8 IR,
10 @4 GRIQ 6 XARG 5 |& F6RITY
a9 QB | AR 6Q 6REERE €IS

aqe Qa8 ?
&) 85

®) 83
() 78
®) 75

82 @60 9QQA P, Q, R, S, T Ug

692 608 9@ 0@a 1e 989Iasa 07 /4 |

98 9e° &7 84 Ada1 2831 a5 Sa1de
Qe 9e° gab 2326 ARead! 288 |
ﬁe@@épaéej NQ° Q 62@B R Q €I t
T 6208 964 27QITe g8 9&° S 628
966 Al FORYE AU 6965 OR ?

(A) Regaf UM

(B) RegeSSagt

D) 6B ARIQ 6FEIT 651

impact : (C) S is unmarried
(D) The solution’s  popularity (D) 9Q UM A AARILR
among team members cRIeGas! (D) None of the above
CSP-24/2-C : 32 CSP-24/2-C
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Read the following passage and
answer question 59 and 60
below :

A senior marketing manager,
Samita, is negotiating a new
contract with a long-standing client,
a retail chain. The client is pushing
for a 15% discount, citing budget
constraints, while Samita’s team can
only feasibly offer a 5% discount
without sacrificing the quality of
service. During the negotiation, the
client’s representative, Jiban,
mentions a competitor’s lower price
multiple times, framing it as a non-
negotiable  benchmark. Samita
listens patiently, acknowledging
Jiban’s concerns about ' budget.
Instead of directly debating ‘the
competitor’s price, she shifts the
focus by detailing the unique, high-
quality services and strategic value
her company provides that the
competitor cannot match. She
presents a creative, tiered solution
where the client can receive a 10%
discount in exchange for a longer-
term, two-year contract, which
ensures her company’é stability and
offers the client more long-term

value

L

foRge 2°86 agg 99 o6R 94
59 4&° 60 QQ Jag:

Q66 Q8Q AIERce ASIRe QAFe, 68
QIR 9@ ¢RI eAD (retail
chain) Gais Q26 9@ goR §BAIAl
Q06Q 2ASAISR QBT G Q6RT
QAISSOIR A]E |Q 15% @2id AIg o1a
IRIREE, 60606967 AT AR 699IQ
Jacal QR Aad 6ReR 5% Qe
gele @AaIGER | BIGRISR! AADER,
TAUSE GGRY F19R, 9@ g@s;avmm @A
NG RGN RERY F9F, VLI 1@ Q-
RIS AIRTS QINEA YYS 903 | AAQ!
ddva ade 43, Q686 FIACA NIRRT
981g 91918 @68 | gFsaIRIs Ry ade
QuIARs Jo7 @6 0GR, 6@ oIF
QAN GAIR QQARI ARRY, AS-GARE
6291 4° QEEEGe Ry Saasn Gge
IR AR a5 @98 alel gieaian
6617 SIRARES Q1T | 62 IR YRASIR,
19 AT QENAR [9F 6aA0I6R
qais ¥R idaIRe, 9a eda 98 alel
10% Q2 aRadse, ARl oIF SRR
2991 gRRe @6a e Galslg 2ye
QIRTR JRY GAUR F6a |

34

59. By offering a tiered solution with a

longer-term contract, what did
Samita Effectively do?

(A) Showed a lack of confidence by
immediately offering a deeper
discount

(B) ' Prioritized her company’s
needs over the client’s,
signaling a breakdown in trust

(C) Used a win-win approach to

: addreéss the client’s desire for a
larger discount while securing
a more stable, long-term
commitment for her own
business

(D) Made a strategic error by not
having a more direct counter-
offer ready for the competitor’s
price.

. Which negotiation strategy did

Samita primarily use to overcome
the impasse created by the

. competitor’s low price?

(A) Making a concession, by
offering a discount close to the
client’s demand

(B) Adopting an aggressive stance
by directly challenging the
competitor’s value

(C) Reframing the value
proposition to shift the focus
from price to unique benefits
and long-term partnership

(D) Compromising immediately by
© splitting the difference between
the initial 5% and 15% offers

59. Q@ Y1dRIFIR 9B ARG IR QI AARIR

"0 o= G eda aF e @9,

e @, Aficl gaIeaIR QIR R'é

QRgeR?

A) ges ¥R oaa daif ger @9
2FR/UAR AN 6QHIRYER |

(B) {9IQ UFTIQ A6FQ 669, TS
26AT QIF QAN ANV
JIRIFRC! 62RY6R |

QldeRe gdessl ge@e @ael
Qqge GaIEs e °¢ Qe ae
QRIQ A6 FAQ! AR 9L FRG-
" @0 986 QueaIn QAR

D) gFeaITIs GR AIR 2R IR
g6-gaIe gee @ *d 9@ Q9655e
g% @Aas!

gleaiane ea gy fIal 98 saingal
ASRINAIQ 98 @AQ! A Afel guies
634 ZICRIGRI QIRIT QISR AGER?

(A) 9Qgie QIR QIdea Aed gee
QA ¥R AT QI KGR |

(B) gF6aINs gaig AUIARY SHIERS:
Q8 9@ KAAIR AN 28
QQQl |

© g dUe 9Rsa Q@ 9@
QIR ALRIGIG NS AR
ANER gaugesie (value |
proposition) § LEARA QAU

D,

~

IR 5% 98° 15% Q9 AR
adeng SRIRe @8 gas 2am
QAR |
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Direction (Q. Nos. 61 to 63) : Read
the given passage and answer the
questions that follow. Your
answers to these questions
should be based on the passage
only.

The children were to be driven, as a
special treat, to the sands at
Jagborough. Nicholas was not to be
of the party; he was in disgrace.
Only that morning he had refused to
eat his wholesome bread-and-milk
on the seemingly frivolous ground
that there was a frog in it. Older and
wiser and better people (his aunt),
had told him that there could not
possibly be a frog in his bread-and-
milk and that he was not to talk
nonsense; he continued,
nevertheless, to talk what seemed
complete nonsense and described
with much detail the coloration and
markings of the alleged frog. The
dramatic part of the incident was
that there really was a frog in
Nicholas’s basin of bread-and-milk;
he had put it there himself, so he
felt entitled to know something
about it. The sin of taking a frog
from the garden and putting it into
a bowl of wholesome bread-and-milk
was enlarged on at great length, but
the fact that stood out clearest in
the whole affair, as it presented
itself to the mind of Nicholas, was
that the older, wiser and better
people had been proved to be
profoundly in error in matters about
which they had expressed the
utmost assurance. “You said there
couldn’t possibly be a frog in my
bread-and-milk; there was a frog in
my bread-and-milk,” he repeated,
with the insistence of a skilled
tactician who does not intend to
shift from favourable ground.

Feda (99 e 61 @ 63 A : A
agege] a9f G6QIegeeeea  @ee
@2 | 98 AQEReER ARSI JTA
KUK 2RAAS 626 9GS |

GRIFIRG  FITERIEAIR  69RIpAR R

Q669 QUAR QIR 6AADNG YR |
F6RINIQ AITQ AQQ @ g6R, 64 ATAIRS
Y6R | 6Q9R 69T ARIEH 6Q GIF YRR
96 ¥e° F1 IR AR ARCRRYER |
QNG 9GER IR 696 Rl 98, g8
e QREAIR  (GIF AIRQ) oIF f¥g6R
69 GIF @5 99° AR 9 6°F @
2ARAICA | 66¢] 64 AATA QUGN QO
g6¢ | o21d 62 qI2l agd 2gel aee
ceqejnl, o2l QEg FIR agsm 9e°
QYS 6TA QA I 5% Fa06a 9ge
3912 @8 9dal Q6R | A6AIR AIERIG
28 Rl 60 G6RINIA & @5 I9° /109
QIARER GYER IR 6Q6T &Rl | 6 FeR
N2Ig 6068 QSR 664 6a W@l
S9960 @8 AIEQIg 2]Q AZAS QR |
QUSIQ IR 6AFTR 699 IR UYL §F
e G1Q UIGER QYRR AI9g 986 Adl
QIR SFARA | [ TN &
AR NG QUUAR QA9 AAACR
WEAANER 609 AT ILNIN6Q
6QUICIRYAI, 1Tl SEQ ARIAER RIS
ARG | QAT 62RI 60 F0Q, BIFT N&°
oneaIe cad Jagca asdie goge
6QRY6R, 69%6R 9gC QN Al gAIGS
621 | “ger QRAGA €A 6A1 QT we°
J196Q 626" © 2RANER, 2P 67 §F
NQ° F106Q 6Q6F 2B I” Q6 @8 Agew
&Q a@e A% AsRIRIeR 62A @ QIR 62
GRAIGR @6M |
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61. What was the aunt trying to tell

Nicholas?

(A) That he should play with his
cousins

(B) That he would be punished if
he misbehaved

(C) That he should have eaten the
bread and milk

(D) That he could choose to stay
back if he wished

62. What made Nicholas so sure about

what he said?

(A) He noticed it jumping in

(B) He saw someone putting it in

(C) His cousins had told him about
it

(D) He himself had put it in

63. Why did Nicholas consider his aunt

had been proved to be wrong?

(A) Shewas foi‘cing him to eat the
bread and milk

(B) She had said there was no frog
in the bowl

(C) She never listened to him

(D) She always scolded him

61.

62.

63.

F6RINIY § AIRA! (aunt) KE QR

QIFEER ?

(A) 6462 GIFQ NIANRE! (cousin) &
QARG 69R Q9Q |

(B) 699G 62 ¢IQIT QIR QB BIF
Qg Q2T |

(C) 69 62 @5 9&° @R §IRQI Q8]
R |

(D) 64 69 QTR 6206Q AZFIQ
a2 QAAIRER |

FeRIRIY OIF QA JaA6R 68 FEe
QIR 626R ?

(A) 6Q62%6R 64 12l 60AFAI |

(B) 6Q 6QYEM 6RTREE 12 FGER
AARER |

C) 9% AWINAAER (cousins) SIF
N2 Fa96Q @4geR |

(D) 69868 92AQ AY2YER |

FeRIRIQ AT ISR 60 OIF IR

2R gAIdic 6a1eas ?

(A) 69 QIg @F 9° FIQ HINQIG QI
QQgem |

‘(B) 6 (AIRQ1) @22YEM 69 HIMAIGER
6Ra @ g |

(0) 62 (A9 oIF Q2 26 §asR
QT |

D) 6 (AR oig ada  AF
69Q86R |
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Read the following passage and
answer the Question No. 64 to 68
following it :

The diversity of India is

tremendous; it is obvious; it lies on *

the surface and anybody can see it.
It concerns itself with physical
appearances as well as with certain
mental habits and traits. There is
little in common, to outward
seeming, between the Pathan of the
North-West and the Tamil in the far
South. Their racial stocks are not
the same, though there may be
common strands running through
them; they differ in face and figure,
food and clothing and of course,
language. In the North-western
Frontier Province there is already
the breath of Central Asia and many
a custom there, as in Kashmir,
reminds one of the countries on the
other side of the Himalayas. Pathan
popular dances are singularly like
Russian Cossack dancing. Yet, Vyith
all these differences, there is no
mistaking the impress of India on
the Pathan, as this is obvious on the
Tamil. This is not surprising, for
these border lands and indeed
Afghanistan also, were united with
India for thousands of years. The old
Turkish and other races who
inhabited Afghanistan and parts of
Central Asia before the advent of
Islam were largely Buddhists and
earlier still, during the period of the
Epics, Hindus. The frontier area was
one of the principal centres of old
Indian culture and it abounds still
with ruins of monuments and
monasteries and especially, of the

G0 goa ugeRes zwae @8 gd
64@68q0eada |

QIaea d86! 88 2GE | 2 ANS A

3 gaNIGER ALFE 69 €A QIS aIg
6QgaiBe | Y@ 66loR gy %o
afdIgIce AIede aeud 6 ga 929
%561 eaa a8aa 909 6 e8aa SR
ArIER QIZIRg 6eHIA 6F afIRel 9ge
Q| 2| 6AAIRE AU ARIGE 9B YSR
¢ QI56e 9 aFle g6d | 6arlies F 6
aqla, Sy 6 6AINIR Ne° QTS §F |
eea aff QM8 geesdsa geg Yl
<Gela Al gee EF e 6a06R
QIgI6a gal 26Re gl FAIRAR AR
aidea gql 69g8g A6R ARIRE |
qold 6RIRTH 9049eR caen QB
adie gey @@l caid <&@ aag aiey
QA6Q QOIIF RAGH ANGA JAIQ FEIAEP
600 Y@l SIARAINE Qdea ad 2 |
<@ 'aadiaee 964 | Ieg <@ amie
2ERYER G699 Q8 AITARAIR A 2RIQ
2010 Qd 43 9166 AT IR 62IR Q@RI |
QAR 2GAR gIQ TARAE 6 Al

. Qe §8 6egsa Q1 @QRQl ge&l

SAIT AR SIF I8 61T gER I
cdIQIfie gaea 9 J6m | QIS AER
godl QacIa A°IEQ ggs 6eggEe
ARIQ 601G Zal | 9T 2ER 6Q ] AR
6 yaRcassa aagdl J6ea 9F ga

great university of Taxila, which
was at the height of its fame two
thousand years ago, attracting
students from all over India as well
as different parts of Asia. Changes
of religion made a difference, but
could not change entirely the mental
backgrounds which the people of
those areas had developed.

The Pathan and the Tamil are two
extreme examples; the others lie
somewhere in between. All of them
have their dis-tinctive features, all
of them have still more the
distinguishing mark of India. It is
fascinating to find how the Bengalis,
the Marathas, the Gujratis, the
Tamils, the Andhras, the Odias, the
Assamese, the Canarese, the
Malayalis, the Sindhis, the
Punjabis, the Pathans, the
Kashmiris, the Rajputs and the
great central block comprising the
Hindustani-speaking people, have
retained their. peculiar
characteristics for hundreds of
years, have still more or less the
same virtues and failings of which
old tradition or record tells us and
yet have been throughout these ages
distinctively Indian, with the same
national heritage and the same set
of moral and mental qualities. There
was something living and dynamic

about this heritage which showed

itself in ways of living and a
philosophical attitude to life and its
problems. Ancient India, like
ancient China, was a world in itself,
a culture and a civilization which
gave shape to all things. Foreign
influences poured in and often

2910 od g6 GMITR 9aA AR &S
SITR OR AR FITMIRG AR NS G
“@eie e e sigrieg 2ARde
egaml | ade adede 9@ adey
Ao, @3 62 UERQ AT RS
asde gepdy agd  afede
RARRYR |

qole 8 o 9a% age @qIead,
ARYAIER ¢RI 629A QAR FUR @aBI
6aAIER AAIFR IeR 67FFY AR |
QAR IR 07 WR AIga Q@8 |
QFIR, FIRI01, GAUST, SIAR, AR, AIAF,
QRY, AR, 21, 9@, A0,
QYA AURGS ¥e° QAR QUSIQIT
CRIRS FIAI G106 AR 611D UZR 62
a2 od d3 cafinga Jqdigee Saa
@283 | g4I 99AQI G 699E 2IAQ 6A%
g8 6 SaRel gLIRaIN, G2l 86 I 64
Q28 QaId 6AgERsa AR fIS1A Joy,
A 675R B AIRAe g4 ATe LoR
QWA QAGIA AR afass | 9@
d0ey Qaa 9198 G SR R, QIR
F19QQIAR 6371, RICR B ¥R AAWIGE
9@ QR ACRININA 9RI9 Q6R | 9ISIR
Q10 98 gIP1R ARG feeq 1@ 89 M,
NQ QGG B QBIGI AR, AT AAS FRAG
RN 6QRYN | QAN gRIQ ged
QRYM 9Q° °YEQ dNITe QAR Ie°
68l gAIe  QSSIA AT
2CRRA6R TSN 1 QuQIe
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64.

. Why is it “not surprising” that India

influenced that culture and were
absorbed. Disruptive tendencies
gave rise immediately to an attempt
to find a synthesis. Some kind of a
dream of unity has occupied the
mind of India since the dawn of
civilization. That unity was not
conceived as something imposed
from out-side, a standardization of
externals or even of beliefs. It was
something deeper and within its
fold, the widest tolerance of belief
and custom was practised and every
variety acknowledged and even
encouraged. -

What is said about the Pathan and
the Tamil in the passage?

(A) They have little in common
outwardly

(B) They are culturally identical

(C) They both originate from
Central Asia

(D) They share a similar religion

has influenced the Pathan?

(A) Because the region was

historically united with India

64.

65.

Q6QERIA1 ARG Y 6
ARERGIQ BQ CARR | ARSI AR
QARG ARG IRGIA @ 99 QFI /68 |
622 YRG! QIQY 9NISR §F 699 QYR |
92 QRN 9ORR §9e W@
AIRRIRAS | N2l AEAIGIEa TRIR Y |
g gRea {9 6 gaigs QuaR
QERIIRGI QIR QAIKIRYRI Q" @
age 91gf faaRRl N9° @ATe ARl
QIR |

2geaaten @0l 8 SRS {8969

Q€ QAR ?

A) Qg6 6T AR
QARG AASIA

(B) Arebe deQ 62ql6e QIR
(©) a996eg - 132 98 AIR @883

D) 62AI6R 6915 2ERD

QUG AOIAING GRS @AE" - 1 F19Y
AQIIGER §6< QTR ?

A) «ea @ age J0ede @Ie6e,

NG A2 A°YS
(B) Because they spoke Sanskrit (B) @08 PSR A9 AN €IS
until recently QG QI LR FRESA
© ﬁzclzres: they were always (C) @08 6Qqee Q9 FER
6m
L(D) g}egi:se they were traders with D) @08 6a7I68 o190 AT QI&RY
QRN FP2ER

CSP-24/2-C 40

66. What does the passage say about

the historical religious affiliations of
Afghanistan and Central Asia?

(A) They were Buddhist and
earlier Hindu

(B) They had no established religion

(C) They were always Islamic

(D) They followed Zoroastrianism

67. What does the author ‘suggest about

the different Indian linguistic and

regional groups?

(A) They have lost all traditional
values

(B) They retain distinct traits but
share a national identity

(C) They are too different to be
unified

(D) They are forced to assimilate
under central rule

68. What was India’s attitude toward

foreign influences, according to the
passage?
(A) Itignored them altogether

(B) It expelled them completely

67.

68.

. ATCIRAIR G 6eg 1@l arIEa JGRIAR

U9 A2QRe AHER @6 QRINIRE ?

(&) 6anIce edRudiendl 6 gaa
adugea @g aea

®) eafiesa 6lad gde ad @

(C) 6anee adal QARIA ISR
26R

D) 6acIeR 6RAIG U  AFARE
RQER

QAACA NAGS G EUlsaIRR SRUB!
AATER 6AGR & AQIFd geIe asd?

(A) 6Q9ee A2 AlBHEe FRYearI
288

(B) 6Q9@e ¢o@ 6849y Q2R Q9%
AIg KIS1, AASAR QLR ARE

(©) ags 6219 9Fel A 629ee 2T
Q0R RIS

(D) 699159190 2NN 19g adal
IR 6296 RISAUART

Q694 gRIQ gF QIRGA FI6RINIQ 9'a?

(A) N2GAGA 6T QYR |
B) <@ g4 A6a 6a9Fg TR

QA |
(C) It absorbed and synthesised (C) 2 69969 928 egaRl 8 ANFE
them X a
@l |
D) It struggled to understand D) 9@ 6Q9e9 98caR Qg «ad
them
QgeRl |
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69. A man is facing North-West. He

70.

turns 90° in the clock wise direction,

then 180° in the anticlockwise

direction and then 90° in the same
direction. Which direction is he

facing now?

(A) South
(B) South-West
(C) West

(D) South-East

Pointing to a photograph of X, Y
said, “The father of his sister is the
husband of my wife’s mother”. How

is, Y relation to, X?

(A) Brother
(B) Brother-in-law
(C) Uncle

(D) None of these

69.

70.

G661 6RIe Re-adie Gag e @8 oal
621088 | 6Q QIRY 96a 90° RER
e A9I09IQ Faa1e G961 180° gRsA
e° Qla6a 68 @asa 90° gﬁem, 6Q

962 604 Qag ¢ @4 02 621983 ?
Q) ol&

B) <oRg-adia

€) «&ia

D) <Re-ge

X @ <@ I651g 2R Y adem, "olF
QRE1R Q1A 66l IR AT AT | 656Q
XQqge YRaa ags ?

(A) @@ (Brother)

(B) 9I9@241 (Brother-in-law) -
(C) @9l (Uncle)

(D) IR 676G qed

CSP-24/2-C
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71.Find the

water image of the
following :
WATER-IMAGE

(@ IOVIWI-GILVM

- (b))  MVIIB-INVGE

72,

(©) © MVLEY-INVGE
(d  MVLEB-INVGE

@ @
® @)
© ©
®) @

Two trains of equal length cross a
pole in 12s and 15s respectively. In
how many seconds will they cross

each other if moving in opposite

1.

72.

99 9°g68S QIR @ |

WATER-IMAGE

(@) EDVIWI-dELVM
b))  MVIAB-INVCGE
() MVIEY- INVGE
d) MVIEB- INVGE

@ (@
® ®)
©. ©

®) @

wIR A S5 9R% 68R QaIREa 12
6Q6@48 9Q° 15 6Q6RUER IR ARG

2590 @6R | AT JaQIe Ta6a 86

directions? 6068 6QFIER €R6E 6ACRIEA ARIANG
2090 @6 ?
@A) '13.5 4) 135
®) 27 v ®B) 27
©) 12 © 12
(D) 10.5 D) 105
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73. If 20% of x equals 30% of y, then
x:yis
A 2:3
B) 3:2
(C) 8:5

D) 5:3

74. The sum of cubes of first 10 odd
natural numbers is
(A) 2025
B) 4025
(C) 3025

D) 5025

75. How many times the minute hand

and hour hand of a clock form

73. 9@ x @ 20% =y @ 30%, 6069 x: y=?

@A) 2:3
®B) 3:2
) 3:5

D) 5:3

74.

N

Qe 106 2199 94 e aeTea A8
69667

(#) 2025

(B) 4025

© 3025

D) 5025

75. Qeie A6 Qe 8 A9l @9l §aq 6766 29

76.If A x B means A is to the south of
B ; A + B means A is to the north of
B ; A % B means A is to the east of
B ; A— B means A is to the west of B.
IfP+Q %R + Kis given then Q is in

~ which direction with respect to K?

(A) South-East
(B) North-East
©) N(.)rth

(D) West

77. Which of the following

+ characteristics is most important for
taking appropriate decisions for
socially disadvantaged persons?

(A) Empathy
(B) Extroversion
(C) Emotional instability

(D) Authoritarianism

'|78. If a boat goes 30 km downstream in

3 hours and 18 km upstream in
3 hours, find still-water speed.

76. 9@ A x B @ 22 6298, A 28 B @
Q3¢6e, A + B @ 2d 6208 A 28 B @
29969, A % B @ 2ds2as A 28 B @
ge6a, A — B 6208 A 28 B a afiea |

. Q& P+ Q% R + K298, 6962 Q
6208 K Q16096 6292660 ?

@) <Re-9s
® @99
©) e@a

D) <da

77. AAITS AR g2 MBART 6TFER

Q0ge Fefseeal GaRge ga9ee
AR 6265 A901Q gagad ?

(&) aaiges

®) zsdsel

(C) «eged 2gas!

D) Qg

78. Q@ 9@ o 3 A9I6Q 30 FEAINSA 0RQ
¥Q° 3 gei6R 18 QEAIFTTR QAeg AN,

90° 2108 QBN |
90° per day?
A) 44 ) 44
® 48 ® 48
© 22 © 22
D) 24 ©) 24
CSP-24/2-C 44

6069 §Q FRER 629 6R6Q 629 ?
A) 7km/h (A) 7km/h
(B) 8km/h (B) 8kmh
(©) 9km/h (©) 9km/h
®) 10km/h ®) 10km/h
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- below consists

79.

80.

Direction : (Q. Nos. 79 and 80) :
Each of the questions given
of a question
followed by three statements.
You have to study the question
and the statements and decide
which of the statement(s) is/are

necessary to - answer the
question.

What is the average. age of 45
students studying in a class?

I The average age of boys is .
15.4 years while the average
age.of girls is 14.6 years.

II.  Boys and girls are.
respectively in the ratio 4: 5

III. The number of boys is less
than that of girls by 5.

(4) OnlylI and II

(B). OnlyT and III

(©) 1 and either IT or I1I
(D) AT, II and III

What is the two-digit number? .

L. Digit in the ten’s place is'cube'

of the digit in unit’s place. -

II. - Digit in the ten’s place is four
times the digit in the unit’s
place. '

III.  The two digits are not equal.

(A) Tand]II only
(B) IandIIl only

(C) Iand either IT or III only

D) Any two of the three

79.
. ULIR 99 6962 ?

QuUIAIRYSI g6siR gﬂsa' Beaif 98

Gediel : (9§ ey 79 @ 80) 96w |
Q@e agg Q@8 | gag 94 Ie°
Gqaqeq 2uae @aIg age e el

669Iq 99 69 g4Q 8Q 621N 639
398 (9FR) 2ReR |

6QIGN 6g416Q 9QeQl 45 K&l BRI

I goaes eeel @ud 15.4 Qd
' cacecace Jaaew A
Q0Q 14.6 @9 |

L qu e QAR AUIGEA 4:5
2QQIGER 2188 |

CIIL geqies L B2AANRE SRRIER |

5@l
A) caen I9e°II
(B) . 6299 14&° TIT

() 199°TI &g I 9e° III

80.

D) <@g T, IT 4e° IIT

_ @}_@819{’ Q8 Ql°%ILlI @€ ?

I Q9 dife gal EIG{‘ 6@@@ %@

HIR6Q g9l AT AR |

L Q9 9196 gel aw 6298 Q&

QIRER Y9I AFQ QIR |

L QA6 AR QIR 68 |

A) 6qeq I II
(B) 6ReRINe I
(€) INe°II&Q I ki 6aId

(D) T6RIT CRIQ 6T Qa6
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